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What is known as simple progressive wave? Find the equation of a simple

progressive wave. .
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2. WHATA W R BIga R, y = 0.8s5in207 (t + I"g)ﬂwﬂlmaﬁmmhm%?

The formula of a plane progressive wave is y = 08 sin20n [t + _lx—s) What is
the length and speed of wave?

Gl < T FHiR, y = 0.8sin20m (t+1—"5)@vﬁ |

q1 : 10x @tﬂ G
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v = 0.02cos(nt + 0.1x)
ST, x Hiex Td ¢ FFUE AR 40 AT FEAT () 27 a1 (i) 60° FAT<R a1 Q1 HUI &
7 g
A sound wave represented by the following equation
y = 0.02cos(nt + 0.1x)
where x in metre and t in second. Calculate

(i) Wave movement (ii) The distance between the two particles having 60°
phase difference.

Bl () < T FHIHI,
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‘4. wafy w3 9} vae, aRe, qorar o daar 2 wRamm AR (UPBTE,2004,09)

Give the definition of loudness, pitch, quality and intensity of sou

ggar  Q wEfAa A Wg w1 F e R Mrs TRl &1 wir frar s 8, 39

Define the physical quantities that are used to differentiate
sounds.

gor  w@fa @} e oiR vewen & WRyfe #ifm) \l . (UPBTE 2016)

Define the intensity and loudness of sound.
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reverberation time.

s the reverberation time? Derive the Sabine’s formula for

yoar RO FTd Tl AagA & ¥ @ sgeafRy #ifdng (UPBTE 2015)

Derive the formula of Sabine related to reverberation time.
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S, V1 ST (Wi yaem A e 1 o1 STERITETT (O.W.U.) 91 ST Frel T 4 H 21

‘8. wieafy 3k erqeer A oRumr A1 SR FTa ¥ RR darEA-gA o srgeom

- T B 5 yer w9 R o wea 27 (UPBTE 2007)
Give the definition of Echo and Reverberation. Write the S e’s formula
for Reverberation time. How can reverberation time would be'reduced?

Far SRV 6w yer Prafta fsar s 27 &JRBTEMﬁ)

How reverberation can be controlled?
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| (UPBTE 2011)

Differentiate betw Eeho and Reverberation.
gerar ufaeafy iR garsu|

Give the di tween Echo and Reverberation.
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(UPBTE 2004)

The intensity of sound would be increased by 10° times. How much decibel
its sound level will increase?
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=10log 1o % ['-logm — logn = log %]

‘9, @af &1 wadA, sruadd= aur sy fa Q 27
What is reflection, refraction Qbsorption of sound?

Sae o9 fHd 9YFR 1 €3 Fe (audfforium) ¥ FF Bd ¥ @l sa= &1 W § @ 7 @
mﬁ@wﬁmaﬁ%sﬁzm&w%ﬁfw@{ — e, B4, %Y, fasfwai F veatl, <tarsh, wf
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FEre 7200 U Hiex 8| PRI, dart aun vef enfe & wror pa wad
f3uEi & ual # 320 a7 Hex 3 | SFRUM el e B3| o 2t et
Peiwasial ¥ BRUTTHTE STaioT & U= v F wal & 160 anf ez,

7 & uRad= 7 S (UPBTE 2001)
volume of a cinema hall is 7200 cubic meter. Total effective absorption

apa due to chairs, walls and curtains etc is 320 Square meter in the
M window units. Calculate the reverberation time. If the hall is full with

the audience and the effective absorption capacity due to audience is 160
meter? in the open window units, then find the changes in buzzing time.
et fem 2, V = 7200 S HIX

. _0165xV
(i) TS 1, h=—"%5

0.165 x 7200
_ 9 = 3.719&HUT Y Q
320 [ZaS = 3209 wtex in O.W.U.]




(i) fa ol ¥, 3t svarsingmy 5T = 320 + 160 = 480 T WX in O.W.U.

- o ¥, 7. - 0165xV
2 ¥as
_ 0165 x7200 _, 405 daus
480
S TS aE A UREdd =T, - T,

=371 - 2475 = 1.235QHUE

11. et wa= @t ot eafyesar & v smaas whyawi @@=l
Explain the necessary conditions for good acoustic of buil

g7 @fE w He (Raof) ffke » (UPBTE 2013)
Write a brief notes on acoustics.
T mwﬁﬁ,ma}ﬁmmﬁmwﬁf&m%ﬂ@ (UPBTE 2015)

Write a brief notes on acoustic of building, i uSes and remedies.
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B Y # ufealy 98 g 2@, g SRUA B 8, T4 (UPBTE 2013)

In small rooms, the echo would not heard but reverberation would take
place. Why?

34Uz eaf1 3 Tade © SRAt S S 31 S R st %) Ay FEe a9 g 6 ¢ o
R e R A T 16,5 T & F9 A 9, 3 R SR FR N w0 e, iy 9 FR
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